Formula Nombre

Cl—CHz —CHz—ClI

{Ij.Ha
CHa— 'Ell— CHz2 —Br
CH3

CH3

|
CHy— = CH— Ch:

Cl F

'E|3|
Cl — Elj— H
Cl

CHz— CH:z:—CI

(|3|
Cl — (ll— F
Cl

Cl
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Br

Cl

10

CH3— Br

11

Cl

|
{lle — CHz — C=CH:2
F

12

Cl

Cl

13

F ClI
| |
CHz;—CH— {llH — CH=
CHz —CH2 — CH3

14

Elir Cl
I
CH: —CH=CH— CH=C—CHs
I
CHz—F
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15

Br Cl

| |
GHz —CH— CH— CH:
Cl CHz — CH3

16

17

18

CH;—CH—CH—CH—CH—CH,—CHgs

| | | |
CHs; Cl CH; Br

19

CH; —CH —CH, — CH,— CH —CHj

| |
Br CH,

20

CH, —CH—CH—CH;

| | | |
Br  F  CHs |

21

CH3;—CH—CH;,—CH—CH; —CH—CH3
| | |
Br CH, —CHsj; Cl

22

CH; — CH, — CH—Br
|
CH,

23

CH, = CH—CH—CH= CH—CHj
|

Br

24

Cl

|
CH—CH = CH— CH—CH,—CH;

Cl CHs

25

CH =C—CHI—CHI —CHg;
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26

Cl

Cl Cl

Cl

27

Br

Cl

28

Cl Br

.
CH; — CH = CH — CH— C —CH
o

CHs; Cl Br

29

CHz—Br

30

Cl
|
CH3— CH, — CH— CH— CH, — CH, — CHj
|
CHs — CH, — CHs

Pag 4/7




31

CH, — CHjs CHs
CHjs |CH2 CHjs CH2—|CH—CH3
CH3—C|H—CH2— C|H—|C—CH—|CH—CH2—CH2—CH3
I_|3>r LHz—CHg

32

CHs
Cl Br CH; — (|: — CHj3
CHz; — (lH — (|3H — CH; (|3H CH—CH;— CHs;
I_l>r (|3H2 — CH3

33

CHz—CHg CH3 CHS
| | |
CH; — CH; — CH — CH — CH— CH,; — C — CH,— CHs
| |

Br CHs;
Cl Cl
34 Cl Cl
Cl Cl
Cl Br CH, — CH3

35

| | |
CH;—CH—C— CH,—CH—CH—CH,—CH,— CHj3
| |
Br CHs;

36

Br
|
CH;—C =CH—CH—CH>,—CH3
|
CH, — CHs3
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37

Br F | Cl
| | |

CH, = C—CH— CH,—CH—CH,—CH = CH;,

38

Br F

|
CH;—C — CH—CHjs;

|

CHs

39

Cl_ Cl

CHa

40

Br Cl

| |
CHs — C—CHz—(|3H—CH—CH3
CH, F
|
CH,— CH;

41

Br
|
CH; — C|H — CH—CHCI — CH.CI
H;C — C —CHgs;
|
CH;

42

Cl CHs F
| | |
CH; —CH— CH—C—CH;,—CH —CH,—CHj3;
| |
CHg—CHz CHz— Br

43

Br Br Br

| | |
CHy — CH — CH— CH,;— CH,— CH— CHj
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44

| F CH;—CHs

o
CH;—CH—C =C—C=CH—CH—CHjs

45

Br Cl Br
| | |
CH; —CH — CH—CH—CH—CH—CHj4
| |
CH;—CH, F
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